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AT Swap(QZHl

A BMER S5

B HI{ERE : 10

#ITH Swap()
A MEE 10
B MIERE : 5

swap.cpp Eﬂ@ﬁﬂ“ E .

#include <iostream>
using namespace std;

IIKE A: /EETE ARSI A BT R AH R A2 =088
int main()

{
double A=5, B=10;
cout << "¥{FT Swap()ZE\n";
cout<<"A MIHRE :"<< A <<"\nB WYERE :"<< B <<endl;
cout << " \n'';
Swap(&A, &B);
cout << "# T Swap(\n'';
cout<<"A MR :"<< A <<"\nB By : " << B <<endl;
cout << endl;
system(''pause");

}

2. FFIFIBE(Recursion) JT=akE T —{E k¥ Factorial » (E45-# TP Factorial (3) K Factorial (5)i% » 43 R GBI 3 RIS (4 -
i It Factorial S U R A T 2= (Factorial.cpp) 12 sumFactorial (U8 H - {HfEsumFactorial B A PR & H AEfE A do
whileEIRd » FEprintResults KB PIFRH] R AEGE Ffor RS - HEAKBELREABAEZFHET » £ TETENILAF B
R » (185 I T R IS F 2 G CEREAEENS » RN E S8 Rt R BETE)  30%
1!=1

11421=3

11+214+3!=9

114+2!+43!44!=33

11+214+3!1+4!1+5!=153

Factorial.cpp Eﬁﬁﬂl B

#include<iostream> .
#include<cstdlib> bk sl g o o
using namespace std; ‘g PR e B

/IHE A: BT LCRE P FT AR AH B2 N
int main(void)

{

for(int i=1; i<=5; i++)

{

printResults(i, sumFactorial(i));

}

reiurn (;

3. AEAYBELENBABZFERT » ETHEAHENNAFRBNERE - F85mZ 2R (array.cpp)EITHR B FIETH
W ZEER: GER: 7 ModifyArray B printArray P HSE (8 5 B ERVEREF T #, TREIARTIGER AL][j135% - 1EEHS »
RARHGTIELARE AR BRERXSEE) 25%
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SR A B
11 12 13 14 15
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22 12 13 14 15
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FEMHE B Ky
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61 124 63 64 65
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array.cpp Eﬁ@ﬂ F:
#include <iostream>
#include <cstdlib>
using namespace std;
const int ROW = 3;
const int COLUMN = 5;

INE A: TP B BB RS 2 }

CI=T4 A st Fa LIRTHA

St

void main(void)

/I A Fy—{E_4E Array
/IE B:  FETEIAENIIAFTBAERERE

cout << "4Ef#H A K" << endl;
arrTools::printArray(A);

cout << " " << endl;

cout << "JEfE A (RBBREI L HAZAWE B << endl;
arrTools::Modify Array(A);
arrTools::printArray(A);

cout <<

" << endl;

/I B Be—{E—4E Array
/IHE C:  FATEAERIIAFT B2 TE

cout << "4Ef# B 5" << endl;
arrTools::printArray(B);

cout << " " << endl;

cout << "4EfH B FHRI B H ST A" << endl;
arrTools::Modify Array(B);
arrTools::printArray(B);

cout << "

" << endl;

4. HEFEBELEABATZFAT - £ TETENIIAFBIIRERTE  F852R 2 R sort.cpp)BEiTH &% IEI 44
TZER: CERAFER » REEEWTEAMEEARBRERBET) 25%

K5 P N2 TREVNEIAHEFIEFR: 39 40 41 44 48
Bi5 Q WZITRE/NEIAHEFIEF/Z: 49 50 51 54 58 99

sort.cpp Ejﬁ Z” E .

#include <iostream>
using namespace std;

IE A:  SHTELREP DA BT R A IR =0
int main()

{

mcuTools *tools;

INE B:  SHELAEAIIIAFT RAHBIAE =%

int P[SizeP]
int Q[SizeQ]

{48, 39, 40, 44, 41};
{58, 49, 50, 54, 51,99};

tools->ReArrangeArray(P,SizeP); /e B SIS P 142 50 H/NEIAHES

cout <<"MF| P NZITEENEIAHFIEFE: s
tools->PrintArray(P,SizeP);

tools->ReArrangeArray(Q,SizeQ); /ILERE &Y Q P ZmEE/NEIAHEF

cout <<"WiZ| Q WNZILEE/NEIAHFINEFRZ: ;
tools->PrintArray(Q,SizeQ);




